A & Bath & Shower
Bain et Douche

Owner Manual and Installation Guide
Manuel du propriétaire et guide d’installation

Nevada Neo-round Shower Stall
Cabine de douche néo-ronde Nevada

INST-NEVADA NR38 28MA2013



INFORMATION / INFORMATION

Before you begin carefully read all instructions.

Consult local building codes to ensure installation com-
plies with standards in your area.

Inspect unit carefully to ensure there is no damage or
defects. If you find a defect. Contact your distributor.
If damage has occured during transport. Contact your
carrier.

Make sure you have received all the parts required to
install the unit. (tools are not included)

Ensure the floor is level and the drain is in the correct
location for the unit you have purshased.

Avant de débuter les travaux, assurez-vous de lire attenti-
vement les instructions de montage.

Consultez le code du batiment de votre région, afin de
vous assurer que votre installation respecte les normes
en vigueur.

Lors de la réception, inspecté le produit afin de vérifier
que 'ensemble des piéces est en bonne condition. Siun
probléme survient, signalez-le immédiatement a votre
distributeur. Sile dommage est causé par le transporteur,
contactez-le immédiatement.

Assurez-vous que toutes les pieces sont incluses.
Assurez-vous que le plancher est de niveau et que le

tuyau d’évacuation est positionné en fonction de votre
douche.

CARE AND MAINTENANCE / SOIN ET ENTRETIEN

Mild dishwashing liquid will keep the surfaces bright and
clean. Rinse well and dry with a clean cloth.

Caution: Powder detergent and liquid abrasive cleaners
may damage surfaces.

Do not allow the surface to come into contact with cor-
rosive products such as acetone, nail polish remover, dry
cleaning solution, lacquer, thinner, gasoline, etc.

Les détergents liquides pour vaisselles doux sont suffi-
sants pour garder la surface propre et brillante. Rincez a
fond et asséchez avec un chiffon propre.

Attention: Les détergents en poudre ou liquides abrasifs
peuvent endommager les surfaces.

Ne jamais mettre en contact la surface avec des produits
corrosifs contenant de I'acétone (nettoyant de polis a
ongle), des solvants, des décapants, de I'essence, etc.

Page 2



TOOLS AND MATERIAL REQUIRED / OUTILS ET MATERIAUX REQUIS

\ N/

Mortar |/ Mortier Drillbits / Forets Allen Key Set [ Clés Allen

7N 7N
(oomyw § @ N

Utility Knife |/ Couteau a lame rétractable Level [/ Niveau

0<O

o > =T

Lead Pencil / Crayon a mine de plomb Screwdriver [ Tournevis

Adjustable Wrench [ Clé a molette

SILICONE |b:|£l>

Silicone [/ Silicone
(mildew resistant) / (résistant a la moisissure)

G

Drill / Perceuse Clamps [ Serres

Page 3



PARTS LIST / LISTE DES PIECES

DESCRIPTION Qté/Qty

Wall jamb / Montant mural

Fixed panel extrusion / Extrusion de panneau fixe

Fixed panel water proof strip / Moulure de scellement du panneau fixe
Fixed panel / Panneau fixe

Water deflector / Déflecteur d’eau

Top Rail / Rail supérieur

Wheel Bumper (4 LH, 4 RH) / Butoir de porte (4 gauches, 4 droits)

Top Door Wheel / Roulette de porte supérieure

Fixed panel clip / Pince de panneau fixe

Door panel / Panneau de porte

Door Handle Kit / Ensemble de poignée de porte

Door Magnet / Aimant de porte

Bottom Door Wheel / Roulette de porte inférieure

Bottom Rail / Rail inférieur

Left Wall / Mur gauche

Right Wall / Mur droit

Shower Base / Base de douche

Drain / Drain

#10 x 1%" Mechanical screw (M5x30) / Vis mécanique No8 x 1%" (M5x30)
#10 Washer (M5) / Rondelle plate N° 10 (M5)

#10 Nut (M5) / Ecrou N° 10 (M5)

#8 x " Flat head screw (M4x12) / Vis a téte fraisée No8 x %" (M4x12)

#8 x %" Truss head screw (M4x10) / Vis a téte bombée large No8 x %" (M4x10)
#8 x %" Truss head screw (M4x16) / Vis a téte bombée large No8 x %" (M4x16)
#8 x 1" Flat head screw (M4x25) / Vis a téte fraisée No8 x 1" (M4x25)

#8 x 1%" Pan head screw (M4x30) / Vis a téte bombée No8 x 1%" (M4x30)

(S Y [ i EN [ P (o] (2 RN (R R R N NS [N [N) BN P (S (8 [N [ [N [ [

[ |
AL G @ {l
(|

|
|
P

Page 4



PARTS DIAGRAM / SCHEMA DES PIECES




PARTS DIAGRAM
SCHEMA DES PIECES

Page 6



PREPARATION
PREPARATION

371" 7 | ™ 373"
950 MM 950 mm
> =

Zis

R
\

764"
1935 mm

12" 12"
305 mm 305 mm

( Before installing the shower unit make sure that the structure is square and leveled. \

In order to fix the walls, a wood structure must be provided behind the flange of the wall at the
specified dimensions.

Also ensure yourself that the drain pipe is located at the dimensions shown on the above dia-
gram.

Avant de procéder a I'installation de votre unité de douche, assurez-vous que la structure d’ac-
cueil est d’équerre et de niveau.

Une structure de bois doit étre installée afin de fixer les murs en place. Cette structure doit
étre installée derriere le rebord des murs aux dimensions indiqués sur le schéma.

Ce plus, assurez-vous que le tuyau d’évacuation est positionné comme indiqué sur le schéma. )

Page 7



BASE INSTALLATION
INSTALLATION DE LA BASE

( Place the shower base in it’s location. Make \
sure that the base is perfectly leveled.

With a lead pencil, trace the position of the flange
on the studs. Also trace the outline of the base on
the floor.

Remove the base and install the drain onto the
shower base following the sequence shown.

Placer la base de douche dans son emplacement.
Assurez-vous qu’elle soit parfaitement a niveau.

A P'aide d’un crayon, tracer la position du rebord de
la base sur les montants de bois. De plus, tracer le
contour de la base sur le plancher.

Retirer la base et installer le drain en plagant les
pieces dans l'ordre montré.

J

% <«—Strainer [ Crépine

Shower Base [ Base de douche

—_—

—_ <«——Rubber Washer [/ Rondelle de caoutchouc

<——Slip ring / Rondelle de glissement

=7 <—Nut / Ecrou

Page 8



BASE INSTALLATION
INSTALLATION DE LA BASE

( A bed of mortar must be applied underneath \
the tray of the shower base. Apply a sufficient
amount to support the base when it will be leveled
and fixed.

Once the base is in place drill the flange of the
base with a drillbit the same diameter as the flat
head screw (item G). Next with a drillbit the same
diameter as the head of the screw, countersink the
holes made previously.

Finally fix the base with 6 flat head screws (item G)
using a screwdriver.

Un lit de mortier doit soutenir la cuve de votre
Mortar / Mortier base de douche. Déposer suffisamment de
mortier, afin que votre base de douche soit bien
supporter une fois la mise a niveau et la fixation de
la douche effectuée.

Une fois la base en place, percer le rebord de la
base avec un foret du méme diameétre que les vis
(item G) afin de la fixer au montant. Par la suite, a
I'aide d’un foret du méme diameétre que la téte de
vis (item G) fraisée les trous percés précédement.

Finalement fixer la base en place a I'aide de 6 vis
k(item G) en utilisant un tournevis. )

==
W)

T

Mortar |/ Mortier

Page 9



WALLS ASSEMBLY
ASSEMBLAGE DES MURS

( Clamp the walls together. Make sure that they \
are perfectly aligned and that the corner junction is
perfect.

Using the pre-drilled holes as a guide. Drill the mat-
ching wall using a drillbit slightly bigger than the
mechanical screw (item A).

Joignez les deux murs a l'aide de serre. Assurez-
vous que les murs sont bien alignés et que la jonc-
tion des rayons est parfaite.

A P'aide d’un foret légérement plus grand que la vis
mécanique (item A) percer le mur non percé, en
Cous servant des trous déja percer comme guide. )

_—

/
—_—
=
=
e
\/

—

Page 10



WALLS ASSEMBLY
ASSEMBLAGE DES MURS

( Remove the plastic film on the wall junction. \
Before attaching the walls together apply a sili-
cone bead on the corner junction. Make sure to go
around the screw holes facing the interior of the
shower.

Attach the walls together with the mechanical
screws-washers-nut (item A,B & C).

Retirer la pellicule de plastique sur la jonction des
deux murs. Avant I'assemblage des murs, appliquer
un filet de silicone sur la jonction des deux murs.
Assurez-vous de contourner les trous de vis vers
I'intérieur de la douche.

Boulonner les deux murs ensembles en utilisant les
Cis mécanique-rondelles-écrous (item A,B et C) )

Page 11



WALLS INSTALLATION
INSTALLATION DES MURS

( Remove the plastic film at the junction of the \
walls and the base. Before attaching the wall
assembly apply a silicone bead at the junction of the
walls and the base.

Place the wall on the base and make sure that they
match perfectly.

Retirer la pellicule de plastique a la jonction des
murs et de la base. Avant l’installation des murs,
appliquer un filet de silicone entre les deux parties.

Placer les murs sur la base et assurez-vous qu’ils
ksont allignés parfaitement.

Page 12



WALLS INSTALLATION
INSTALLATION DES MURS

=]
/

( Once the unit is positioned in place verify that \
it is leveled. Next drill holes (14) on the flange with
a drillbit the same size as the flat head screw (item
G). Afterwards using a drillbit the size of the screw
head countersink the holes in order for the screw to
be as flush as possible to the flange surface. Finally
screw the unit in place with the flat head screw
(item G) using a screwdriver.

/
!
I

Aprés avoir positionné votre unité, vérifier qu’elle

est de niveau. Par la suite, percer des trous (14) sur

la lévre en périphérie des murs a I'aide d’un foret

de méme diameétre que la vis a téte fraisée (item

G). Ensuite, fraiser les trous en utilisant un foret du
méme diameétre que la téte de la vis. Finalement,
visser l'unité aux murs avec les vis a téte fraisées
\(item G) a l'aide d’un tournevis. )

Page 13



DOOR FRAME ASSEMBLY
ASSEMBLAGE DU CADRE DE PORTE

( Assemble the rails to the fixed panel extru- \
sions with the Round Head Screw (item H) using a
screwdriver.

Assembler les rails et les extrusions de panneaux
fixes, a I'aide des vis a téte ronde (item H), en utili-
sant un tournevis.

\_ J

Page 14

L

B ]

Shower interior [ Intérieur de douche




DOOR FRAME ASSEMBLY
ASSEMBLAGE DU CADRE DE PORTE

/

( Install the fixed panel waterproof strips (item \
3) on the two fixed panels (item 4). Next insert the
fixed panels into the fixed panel extrusions (item 2)
with the pattern on the fixed panel facing into the
shower. Afterwards attach the panels with the fixed
panel clips (item 9) using the flat head screw (item
D).

Installer les moulures de scellement (item 3) sur
I’'extrémité des panneaux fixe (item 4). Par la suite,
inserer les panneaux dans les extrusions de pan-
neaux fixes (item 2). Assurez-vous de placer le motif
sur les panneaux fixes sur la face intérieure de la
douche. Fixer les panneaux aux rails avec les pinces
de panneaux fixes (item 9) a I'aide des vis a téte

fraisée (item D).
& J

Page 15



DOOR FRAME POSITIONNING
POSITIONNEMENT DU CADRE DE PORTE

o\
Mﬁﬁﬂ/

( Insert the wall jambs (item 1) into the fixed \
panel extrusions (item 2). Position the door frame
in order that the door rail is perfectly aligned with
the base threshold. Adjust the wall jambs if neces-
sary. Once the door frame is balanced verify that
the frame is leveled. Afterwards trace the position
of the wall jambs on the shower walls.

Insérer les montants muraux (item 1) dans les ex-
trusions de panneaux fixes (item 2). Placer I'assem-
blage sur 'unité de douche de fagon a ce que le rail
soit parfaitement aligner avec le seuil de la base.

Au besoin, ajuster les montants muraux. Une fois
I'assemblage bien positionner et de niveau, tracer la
Cosition des montants muraux sur les murs. )




WALL JAMBS INSTALLATION
INSTALLATION DES MONTANTS MURAUX

( Place the wall jambs on the mark that you have \
made previously. Mark the position of screw holes
on the walls with a lead pencil. Using a drillbit
smaller than the screw (item F) drill pilot holes on
the walls. Next with a drillbit the same size as the
screw (item F) drill the acrylic shell only. Remove
the plastic film were the wall jambs wil be installed.
Afterwards apply a drop of silicone on the holes
before screwing the wall jambs in place. Screw the
wall jambs in place with the screws (item F). Make
sure that they are align with the mark that you have
made previously.

Placer les montants muraux (item 1) sur les marques
tracés précédemment. A P'aide d’un crayon de
plomb, marquer la position des trous de passages de
vis des montants muraux sur les murs. A Paide d’un
foret plus petit que la vis (item F), percer des trous
pilotes. Par la suite, en utilisant un foret du méme
diametre que les vis (item F) percez uniquement la
coquille d’acrylique. Retirer la pellicule de plastique
ou les montants muraux seront installés. Appliquer
une goutte de silicone sur les trous percés, avant
d’installer les montants muraux. Fixer les montants
muraux avec les vis (item F). Assurez-vous que les
montants muraux sont alignés sur les marques tra-
cées précédemment.

N\

J

Page 17



DOOR FRAME INSTALLATION
INSTALLATION DU CADRE DE PORTE

( Place the door frame on the unit. Once the door \
frame is positioned. Drill pilot holes on the wall
jambs using a smaller drillbit than the screw (item

E). Secure the assembly with the screws (item E)
using a screwdriver.

Installer le cadre de porte. Une fois I'assemblage
bien positionner, percer des trous pilotes sur les
montants muraux a I'aide d’un foret plus petit que la
vis (item E). Fixer le cadre en place avec les vis (item
kE) a I'aide d’un tournevis.

Page 18



WHEEL BUMPERS INSTALLATION
INSTALLATION DES BUTOIRS DE PORTE

( Install the wheel bumpers (item 7) on the rails as \
shown on the image below. Fix the bumpers with
the screws (item E) using a screwdriver. Afterwards
install the bumpers screw caps.

Installer les butoirs (item 7) de roulettes sur les
rails, tel que représenté sur I'image ci-bas. Fixer les
butoirs en place avec les vis (item E) a I'aide d’un
tournevis. Par la suite, insérer les bouchons de vis
Cur les butoirs.

J

10l or

Top Rail / Rail du haut

Bottom Rail / Rail du bas

L) 1§

Page 19



DOOR PANELS ASSEMBLY
ASSEMBLAGE DES PANNEAUX DE PORTE

( Install the magnets (item 12) and the water de- \
flectors (item 5) on each door panel (item 10). Next

install the top and bottom wheels (item 8 & 13) onto
the door panels. Afterwards install the door handles
(item 11).

Installer les aimants (item 12) et les déflecteurs
d’eau (item 5) sur les panneaux de portes (item 10).
Ensuite, installer les roulettes de portes supérieure
(item 8) et inférieure (item 13) sur chacun des pan-
neaux de porte. Par la suite, installer les poignées

kde porte (item 11). )

Page 20



DOOR PANELS INSTALLATION
INSTALLATION DES PANNEAUX DE PORTE

( Insert the top wheels (item 8) into the top rail. \
Next push on the spring buttons onto the bottom
wheels (item 13) in order to insert them into the
bottom rail..

Insérer les roulettes supérieures (item 8) dans le rail
du haut. Ensuite, appuyer sur les boutons ressort
des roulettes inférieurs (item 13), afin de les insérer

dans le rail du bas.
\_ J

Page 21



DOOR PANELS ADJUSTMENT
AJUSTEMENT DES PANNEAUX DE PORTE

( Once the doors are installed, if the door ma- \
gnets do not close perfectly, adjust the top wheels
by srewing or unscrewing the adjustment screws on
the wheels with a screwdriver.

Une fois les portes installées, si les aimants ne fer-
ment pas la porte parfaitement, ajuster les roulettes
supérieures. Procéder a I'ajustement en vissant ou

dévissant les vis d’ajustement sur les roulettes.
\

J

Page 22



CAULKING
CALFEUTRAGE

( When the installation is completed, apply a
continous bead of silicone on the outside of the
shower door at the junction of the wall jambs and
the walls. Next, apply a bead at the junction of the
bottom rail and the base to each extremities.

* Do not apply silicone onto the interior face of the
kshower door.

\ ( Une fois I'installation terminée, appliquer un
filet de silicone a la jonction des montants muraux

au long de la jonction du rail inférieur et de la base
jusqu’a chaques extrémités.

* N’appliquez pas de silicone sur la face intérieure

) kde la porte de douche.

et des murs. Par la suite, appliquer du un joint tout

~

J

Page 23




A&E:: & oo

9181 Boivin
LaSalle, Québec
Canada

H8R 2E8

Tel.: 514.367.1741
800.667.9506 (Toll Free / Sans frais)
Fax: 514.363.4753
@ : renwil@renwil.com
Web : www.renwil.com

WARRANTY / GARANTIE

A&E Shower and Baths inc. (hereafter ““ A&E “) offers the
following express limited warranty on each of its pro-
ducts. This warranty extends only to the original owner/
end-user for personnal household use. A&E warrants his
products to be free from defects in workmanship and ma-
terials under normal use and service for a period of one
(1) year from the original date of purchase by the owner/
end-user. Any product reported to the authorize dealer or
to A&E as being defective within the warranty period will
be repaired or replaced (with a product of equal value)
at the option of A&E. This warranty is not transferable
to a subsequent owner. Neither the distributor, authorize
A&E dealer nor or any other person has been authorized
to make any affirmation, representation or warranty;
any affirmation, representation or warranty other than
those contained is this warranty shall not be enforceable
against A&E or any other person. A&E reserves the right
to modify this warranty at any time, it being understood
that such modification will not alter the warranty condi-
tions applicable at the time of the sale of the products

in question. This warranty shall not apply following
incorrect operating procedures, breakage or damages
cause by fault, carelessness, abuse, misuse, misapplica-
tion, improper maintenance, alteration or modification of
the unit, as well as chemical or natural corrosion, acci-
dent, fire, flood, act of God or any other casualty. This
warranty shall not apply to stain or malfonction caused
by ferrous water, hard water, or salty water. A&E is not
responsable for transportation costs of the defective
product from the installation site to A&E or for the return
of any part or for the cost of labour or services incurred in
the removal or reinstallation of any part. A&E expressly
disclaims and excludes any liability for the consequential
or incidental damage caused or resulting from fortuitous
event, loss of time, lost of use, inconvenience, unnecessa-
ry expenses, labour, material of other costs with respect
to the application of this warranty or with respect to the
removal or replacement of a defective product. Under

no circumstances shall A&E or any of its representatives
be held liable for injury to any person or damage to any
property however arising.

A&E Shower & Bath inc. ("A&E") offre la garantie limi-
tée suivante sur ses produits. Cette garantie s’applique
uniquement au propriétaire original pour une utilisation
domestique. A&E garantit ses produits contre tout défaut
de matériau ou de fabrication pour des conditions nor-
males d’utilisation et d’entretien pour une période d’'une
année a compter de la date d’achat originale du produit
par le propriétaire. A&E procédera a la réparation ou au
remplacement (avec un produit de méme valeur), a sa
discrétion, de tout produit dont le défaut sera rapporté
au détaillant autorisé ou a A&E durant la période de
garantie. Ni le distributeur, ni le concessionnaire auto-
risé A&E Shower & Bath inc., ni personne d’autre n’est
autorisée a faire d’affirmations, de représentations ou

de garantie autres que celles stipulées aux présentes; les
affirmations, représentations et garanties contrevenant

a cette interdiction ne sauraient s’appliquer a A&E ni a
personne d’autre. A&E se réserve le droit de modifier
cette garantie en tout temps; il est entenduque de telles
modifications ne changeront pas les conditions de la ga-
rantie applicable au moment de la vente des produits en
cause. La présente garantie ne s’applique pas dans le cas
d’utilisations ou d’opérations non conformes ou bris ou
dommages causés par la faute, la négligence, le mauvais
emploi, usage, entretien ou altération ou la modification
du produit, de méme que par la corrosion chimique ou
naturelle, le feu, I'inondation, les catastrophes naturelles
ou tout autre cas fortuit. La présente garantie ne s’ap-
plique pas aux taches ou aux résultats provoqués par une
eau ferreuse, une eau dure ou une eau salée. Les frais de
transport des produits défectueux entre le lieu d’instal-
lation et A&E, les frais pour le retour de toutes piéces et
les colits encourus afin d’enlever ou réinstaller une piéce
ou produit seront a la charge du client. A&E ne sera pas
responsable ni redevable pour les dommages indirects, ni
pour les dommages causés ou résultants de cas fortuits,
perte de temps, perte d’usage, inconvénients, dépenses
fortuites, frais de main-d’oeuvre, de matériaux ou tout
les autres colts relatifs a I'application de cette garantie et
a I'enléevement ou au remplacement de produits défec-
tueux. A&E et ses employés ou représentants ne pour-
ront en aucune circonstance étre tenus responsables des
dommages causés a une personne ou a des biens, quel
que soit la source de ces dommages.

Page 24



